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1. Choose the correct option : 1x5=5

(a) Genome refers to
(i the DNA of an organism
(i) the total DNA and RNA of an
organism
(iii) the entire genes of an or
(iv) None of the above

ganism
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(2)

(b) DNA sequencing followed by genome
annotation are steps of

{i) functional genomics
(@) structural genomics
(iij) transcriptomics

(iv) comparative genomics

(c) Variation between individuals due to
single base changes is called as
(i) ESTs
(i) SNPs
(@i} transversion
(iv) body map

(d) Which of the following is g protein
structure database?

(i) PDB

(i) SWISS-PROT
(i) DDBJ

(iv) GenBank

(e} Quantitative variables that can have
any numerical values are called

() quantitative variabje
(@) discrete variable
(@) continuous variable
(iv) absolute varigble
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2. Write very short answers of any three of the
following : 3x3=9

(@) What is metabolomics?
(b) Define molecular phylogeny.
(c) What are the different types of sequence

alignments?

(d) Write three major limitations of
bioinformatics.

(e) What are the sequence submission
tools?

3. Write short notes on any three of t;:; oy

following :

(a) GenBank

(b) SWISS-PROT

(c) DDBJ

(d) Metabolic pathway database

() Small molecule database

i irite on its
4. What is bioinformatics? \gnte gk
importances, goals and scopes-
i in drug
ics 1 ful in
Write how bioinformatics is help

discovery.
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What do you wunderstand by ‘scoring
matrices’ in bioinformatics? What are the
differences between PAM and BLOSUM?

2+4=6
Or
What is microarray? Write a note on it. 6
6. Explain BLAST and FASTA. 3+3=6

Or
What do you understand by ‘data retrieval™?
Name some data retrieval systems. 4+2=6

Write explanatory notes on any two of the
fouowing c 3x2=6

(@) Coefficient of variation

(b) Chi-square test
(c) Z-test
(d) t-test
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